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(3) Nothing is more useful than water; but it will purchase scarce anything; scarce anythmg ¥

can be had in exchange for it. A diamond, on the contrary, has scarce any value in use; 4B

but a very great quantity of other goods may frequently be had in exchange for it

— Adam Smith, 4n Inquiry into the Nature and Causes of the Wealth of Nations
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(1) B4 & +£%§ (gross domestic product) 1%
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(3) ?.’%‘%%ﬂ%iﬁ%’;ﬁ%@ (real business cycle theory)
(4) BE4# (nisery index)

(5) sFEHE (foreign exchange reservés)
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Additional Information:

(1) There was no gain or loss on the sales of the long-term investments, nor on the bonds retired.
(2) Old equipment with an original cost of $37,550 was sold for $2,100 cash.

(3) New equipment was purchased for $67,550 cash.

(4) Cash dividends of $33,600 were paid.

(5) Additional shares of stock were issued for cash.

Prepare a complete statement of cash flows for calendar-year 2005 using the direct method.
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1.(25%)The followmg information is available for the Art Corporation:
. Art Corporation )
Balance Sheets e
At December 31 \J&
2007 2006 \ 4
Assets: : _ ‘ 4—\
Cashu..vvveerecreneeneeiee e ereesreereee e easenenenres $ 24,640 § 23,040 "
ACCOUNS TECETVADIE ......vcecrerererercere e 32,180 29,400 | é\
Merchandise INVENLOrY ......ccccvvverrieeieriensiersieesseneecsvenseens 73,125 61,710 \g ‘\
Long-term inVestments.........ccoeervrerenicenieenieeinneinennnsnnnnens 55,900 56,400 4%
EQUIPMENL ..ovvvvrinveerrensenneisessersssersssssensseeeneene 175,500 145,500 “"
Accumulated depreciation..........oeeevvvinrienvveiniineennis veven (33,550) (31.200)
TOLA] ASSEES ..uvevviveiriireistrereeeeeeresseeeesseessaesessessessessesssessersensens $327,795 $284,850
Liabilities: :
Accounts payable ........cc.cccevveveiieneeiieee s p—, $ 65000 § 40,380
Income taxes payable ..........ccevvierieiiiniriininci e 10,725 10,200
Bonds payable .........coeviceniiicinienienieie e e 48,750 66.000
Total Habilities......cccuverviervenreerininiice e creseenes $124,475 $116,580
Equity: ‘ ' :
Common stock ......... vesgfe SRR . ........... 117,000 96,000
Contributed capital in excess of par.........ccocvevivvvveevrnenes 13,000 9,000
Retained earnings..........cccoevvevveeerennnnane. vszeee e, 73.320 63.270
Total eqUILY......c.coririeniiiiiiieecrce s $203.320 $168.270
Total liabilities and equity.........ccccocvvvivereerireereeceereereeseeeene $327,795 $284,850
Art Corporation
Income Statement
- For Year Ended December 31, 2007
SBIES vvvvevririienirreriseieer et eaesere e esne e eseens $240,000
Cost of 200ds S0Id...cuuvevecvicerinviricieeceere e $80,900
Depreciation eXpense ..........c.covevevveeeveerinrennines 29,400
Other operating EXPENSES .oovvvnririirsiiniissenene 48,000
Interest EXPENSE coovvrvstresniniiiisrie s 2.000 (160,300)
Other gains (losses): ‘
- Loss on sale of equipment..........cccvveunennn.n. (8.400)
Income before taxes .........ccovvevrerecrvevvineercienene - 71,300
Income taxes eXPense..........ocvvverevevmrrrvenernernins (27.650)
NEt INCOME ....cveneeevrrerrenrenenr v $_43,650
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2.(25%)The following information is from Omi Corporation's balance sheets as of December 31, 2006, and 2007 and its

income statement for 2007:
2007 2006

Assets: : ,
CaSheciireerc e $§ 18,000 $ 22,000
Marketable securities...........ccevrererecnirniirinnenn, 25,000 0
Accounts receivable ...........ceeerecrerrernns e 38,000 42,000
INVENLOTY ..covviieeecrrccricccce et reessee e ens 61,000 52,000
Prepaid inSurance ..........ovevevieeiieiveseerennn. 6,000 9,000
Long-term investments...........ccviveneneireererennen. 49,000 20,000
Plant assets, NEt .......ccocvvecereeeveervereeecerveessesessns 218.000 . 225.000
Total @SSELS ..vvvvevviricereiiiereseeeerrcreereereeereneens $415,000 $370,000
NELINCOME ...vvvverririirerriiciireinnisesreesesseesesnens 2R SRGPNR5

Sales (all on credit).........cccocevviierivicciieninenn, 305,000

Cost of 200ds SOId.......ccccvveviievriiirercirieeenen 123,000

INterest EXPense ....c.ecvvrerrirveirevernreeeresesseeonnenen, 15,600

Income tax eXpense..........c..cceeeerverecnsirrerirreninnn, 27,000

From the above information, calculate the following ratios for 2007:
(a) Inventory turnover.

(b) Accounts receivable turnover.

(c) Return on total assets.

(d) Times interest earned.

(e) Total asset turnover.

3. (5%) Timmy Company had a January 1, balance in its Allowance for Doubtful Accounts of $7,000 for the current year.
- The following transactions and events affected the Allowance for Doubtful Accounts during the current year:

Apr. 15 Bard's account receivable of $5,700 was deemed uncollectible.

July 1 Drake paid the full amount of a previously written-off account receivable,
This receivable of $2,300 had been written off in the prior year,

Dec. 31 . Bad debts expense of $7,500 was recorded.

What amount should appear in the allowance for doubtful accounts in the December 31 , balance sheet for the
current year?

4. (5%) A company reported net income of $478,000 and paid $5,500 in preferred cash dividends during the current year.
_The company had 100,000 common shares issued, and 10,000 common shares in treasury. The year-end market
price per common share was $43.05. Calculate the company's price-earnings ratio.
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5.(20%)On September 30 of the current year, a company acquired and placed in service a machine at a cost of $700,000. It
has been estimated that the machine has a service life of five years and a salvage value of $40,000. Using the
double-declining-balance method of depreciation, prepare a schedule showing depreciation amounts for the current

year and the next 4 years (round answers to the nearest dollar). The company closes its books on December 31 of
each year. Please use the format shown below.

Depreciation for the Period ' End of Period & }
Beginning of : -y
Period Book | Depreciation | Depreciation | Accumulated | Book Value ﬁ{
. . : A
Year Value Rate Expense Depreciation \\¢ & \
. x|

s |w|o]—

i

6. (20%)A company issued 10%, 5-year bonds with a par value of $2, OOO 000, on January 1, 2005. Interest is to be paid

semiannually each June 30 and December 31.  The bonds were sold at $2,162,290 to yield the buyers an 8%
annual return. The company uses the effective interest method of amortization. -

Prepare an amortization table for the first two semiannual payment periods using the format shown below.

Semiannual Cash Bond
Interest Interest Interest Premium Unamortized Carrying
Period Paid Expense  Amortization Premium Value
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1. Find the total area between the curve y=1-x? and the X-axis over

the interval [0,2]. (15 points)

BB R v B

2. Evaluate the double integral f f . e“’zdx%i)» by reversing the order of

integration. (15 points)

3. Find the general solution of the differential equation, y'=2-_%

y l+y

(15 points)

4. Use implicit differentiation to find dy/dx for the Folium of

Descartes x*+3® =3xy. . Find an equation for the tangent line to the

‘Folium of Descartes at the point (—31,-2—). (20 points)

5. Generate or sketch a graph of the equation y =[2x? - 8]/[x? - 16] and

1dentify the exact locations of the intercepts, relative extrema inflection
points, and asymptotes. (20 pomts)

6. Use the eighth-degree Taylor polynomial for ¢ to approximate

~ the definite integral ﬂe‘xzdx. (15 points) |
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